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________________________________________     ___________________

(Print last name, first name, middle initial/name) 


         

(Student ID)

Problem 1. 
[2 points]
What are two ways in which functions differ from script files?

Problem 2. 
[2 points]
Given function swap below

 






function [ ] = swap( a, b )
 






tmp = a;
 






a = b;
 






b = tmp;







What is the output from the following commands?
 





» x = [1  3  5]; y = [3  -1  2];
 





» swap( x, y );
 





» x, y




Problem 3. 
[2 points]
Fill in the blanks below:

 





P = ( shiftUp( M ) + shiftDown( M ) ) –  ( shiftLeft( M ) + shiftRight( M ) )









The (i, j) element of P is equal to the ______________ between 

the  ____________ of the ________________________
and ________________________ neighbors of the (i, j) element of M.

